Quiz 7

Name: Student Number:

CALCULATORS ALLOWED.

I. (6 marks) Rotation of Earth Igypere = 2/5 MR® Megan = 6 x 10%* kg Rear = 6,400 km
a) What is the Earth’s rotational angular momentum?
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b) What torque would need to be applied to cause a nonrotating Earth to acquire this
angular momentum in 10 seconds?
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c) If this torque were generated by applying a force at the equator, estimate the
magnitude of this force.
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2. (4 marks) Arctic Ice
a) Arctic ice thickness can be estimated by measuring the distance ice is above water
compared to a nearby region of open water. Find the ice thickness if the ice is 2
meters above the water level. Ice Density = 0.92 gm/cm”. v
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b) Estimate the rise in global sea level if the Arctic ice thickness changes from 1 meter
to 2 meters due to global warming.
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